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Q.1  [CO 4] Answer the folIowing statements with proper justificatioz (2x3)
a. Why LR parsing is more attractive as compared to, arsing?
b. If the grammar is ambiguous then there exist exactly one handle for each
right sentential form.
c. A grammar containing left recursion cann}ot be therefore a grammar
containing right recursion cannot be LR,
Q.2 [CO 5] Construct LR(1) parsing table for fol rammar and also find out total 6
number of shift reduce conflict.
S->E=E/f
E->T/E+T
T->f/ T*f
Q.3  [CO 5] Find out whethet:foll ng»grammar is LALR(1) or not? : 6
(4+3)

L->*R/id
R->L
Also show how bottom up parser will verify whether the string id=*id should be

accepted or not.



